

DIRECT AND CONVERSE RESULTS FOR q -BERNSTEIN OPERATORS

ZOLTÁN FINTA

Department of Mathematics, Babeş-Bolyai University,
Mihail Kogălniceanu nr. 1, RO 400084, Cluj-Napoca,
Romania (fzoltan@math.ubbcluj.ro)

(Received 12 October 2007)

Abstract Direct and converse theorems are established for the q -Bernstein polynomials introduced by G. M. Phillips. The direct approximation theorems are given for the second-order Ditzian–Totik modulus of smoothness. The converse results are theorems of Berens–Lorentz type.

Keywords: q -Bernstein polynomials; K -functional; Ditzian–Totik modulus of smoothness; Berens–Lorentz-type theorem

2000 *Mathematics subject classification:* Primary 41A10; 41A25; 41A27; 41A36

1. Introduction

Let $0 < q \leq 1$ and denote the q -integers by $[n]_q = 1 + q + \dots + q^{n-1}$ for $n = 1, 2, \dots$ and $[0]_q = 0$. Besides, let $[n]_q! = [1]_q[2]_q \cdots [n]_q$ for $n = 1, 2, \dots$ and $[0]_q! = 1$. Then the q -binomial coefficient is defined by

$$\begin{bmatrix} n \\ k \end{bmatrix}_q = \frac{[n]_q!}{[k]_q![n-k]_q!},$$

where $0 \leq k \leq n$.

Recently, Phillips [7] proposed the following generalization of the Bernstein operators, based on the q -integers. For every $n = 1, 2, \dots$ and $f \in C[0, 1]$, we define

$$B_{n,q}(f, x) \equiv (B_{n,q}f)(x) = \sum_{k=0}^n f_k p_{n,k,q}(x), \quad (1.1)$$

where f_k denotes $f([k]_q/[n]_q)$, $k = 0, 1, \dots, n$, and

$$p_{n,k,q}(x) = \begin{bmatrix} n \\ k \end{bmatrix}_q x^k (1-x)(1-xq) \cdots (1-xq^{n-k-1}), \quad k = 0, 1, \dots, n$$

(an empty product is taken to equal 1). $B_{n,q}(f, x)$ are called q -Bernstein polynomials. For $q = 1$, $B_{n,q}(f, x)$ reduces to the well-known Bernstein polynomials:

$$B_{n,1}(f, x) \equiv B_n(f, x) = \sum_{k=0}^n f\left(\frac{k}{n}\right) \binom{n}{k} x^k(1-x)^{n-k}.$$

A useful property of (1.1) is based on the q -differences. For $f \in C[0, 1]$ we define $\Delta_q^0 f_i = f_i$ for $i = 0, 1, \dots, n$ and, recursively,

$$\Delta_q^{k+1} f_i = \Delta_q^k f_{i+1} - q^k \Delta_q^k f_i \tag{1.2}$$

for $k = 0, 1, \dots, n - i - 1$. It is easy to show by induction on k that q -differences satisfy the relation

$$\Delta_q^k f_i = \sum_{r=0}^k (-1)^r q^{r(r-1)/2} \begin{bmatrix} k \\ r \end{bmatrix}_q f_{i+k-r}. \tag{1.3}$$

Then, in view of [7], we may write

$$B_{n,q}(f, x) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q \Delta_q^k f_0 x^k. \tag{1.4}$$

The rate of convergence and a Voronovskaja-type asymptotic formula are studied in [7] for the new Bernstein polynomials defined in (1.1). Results concerning the convergence of derivatives of the q -Bernstein polynomials are given in [8]. Further properties of (1.1), such as convexity and monotonicity, are obtained in [5] and [6], respectively. For the main results of [7], Videnskii gave another proof in [9].

In the present paper we prove direct and converse global theorems for the q -Bernstein polynomials. The direct results are formulated by the second-order Ditzian–Totik modulus of smoothness, given by

$$\omega_\varphi^2(f, \delta) = \sup_{0 < h \leq \delta} \sup_{x \pm h\varphi(x) \in [0, 1]} |f(x + h\varphi(x)) - 2f(x) + f(x - h\varphi(x))|,$$

$\varphi(x) = \sqrt{x(1-x)}$, $x \in [0, 1]$. The corresponding K -functional is

$$K_{2,\varphi}(f, \delta^2) = \inf_{g \in W^2(\varphi)} \{\|f - g\| + \delta^2 \|\varphi^2 g''\|\},$$

where $W^2(\varphi) = \{g \in C[0, 1] : g' \in AC_{loc}[0, 1], \varphi^2 g'' \in C[0, 1]\}$, $\|\cdot\|$ denotes the sup-norm on $C[0, 1]$ and $g' \in AC_{loc}[0, 1]$ means that g is differentiable such that g' is absolutely continuous on every interval $[a, b] \subset [0, 1]$. It is known (see [3, Theorem 2.1.1, p. 11]) that $K_{2,\varphi}(f, \delta^2)$ and $\omega_\varphi^2(f, \delta)$ are equivalent, i.e. there exists an absolute constant $C > 0$ such that

$$C^{-1} \omega_\varphi^2(f, \delta) \leq K_{2,\varphi}(f, \delta^2) \leq C \omega_\varphi^2(f, \delta). \tag{1.5}$$

Here we mention that $C > 0$ is an absolute constant which can be different at each occurrence. The converse results are theorems of Berens–Lorentz type (see [3, (9.3.3), p. 117]).

2. Direct theorem

The direct results are presented in the following.

Theorem 2.1. *Let $B_{n,q}f$ be defined as in (1.1) and let $q = q(n)$ such that $0 < q(n) < 1$ and $q(n) \rightarrow 1$ as $n \rightarrow \infty$. Then there exists $C > 0$ such that*

$$\|B_{n,q(n)}f - f\| \leq C\omega_{\varphi}^2(f, [n]_{q(n)}^{-1/2})$$

for all $f \in C[0, 1]$ and $n = 1, 2, \dots$.

Proof. We recall some properties of the q -Bernstein polynomials. In view of [8, (10), p. 264] we have

$$B_{n,q(n)}(1, x) = 1, \quad (2.1)$$

$$B_{n,q(n)}(t, x) = x, \quad (2.2)$$

$$B_{n,q(n)}(t^2, x) = x^2 + \frac{1}{[n]_{q(n)}}x(1-x). \quad (2.3)$$

Moreover, the q -Bernstein operator defined by (1.1) is a positive linear operator. Therefore, by (2.1), we obtain

$$|B_{n,q(n)}(f, x)| \leq \|f\|B_{n,q(n)}(1, x) = \|f\|,$$

i.e.

$$\|B_{n,q(n)}f\| \leq \|f\|, \quad (2.4)$$

for all $f \in C[0, 1]$.

Next, for $g \in W^2(\varphi)$ we find, in view of Taylor's expansion

$$g(t) = g(x) + g'(x)(t-x) + \int_x^t g''(u)(t-u) du, \quad t \in [0, 1],$$

by (2.1)–(2.3) and [3, Lemma 9.6.1, p. 140], that

$$\begin{aligned} |B_{n,q(n)}(g, x) - g(x)| &= \left| B_{n,q(n)}\left(\int_x^t g''(u)(t-u) du, x\right) \right| \\ &\leq B_{n,q(n)}\left(\left|\int_x^t |g''(u)| |t-u| du\right|, x\right) \\ &\leq \|\varphi^2 g''\| B_{n,q(n)}\left(\left|\int_x^t \frac{|t-u|}{u(1-u)} du\right|, x\right) \\ &\leq \|\varphi^2 g''\| \varphi^{-2}(x) B_{n,q(n)}((t-x)^2, x) \\ &= \frac{1}{[n]_{q(n)}} \|\varphi^2 g''\|. \end{aligned} \quad (2.5)$$

Now for $f \in C[0, 1]$, in view of (2.4) and (2.5), we find that

$$\begin{aligned} |B_{n,q(n)}(f, x) - f(x)| &\leq |B_{n,q(n)}(f - g, x) - (f - g)(x)| + |B_{n,q(n)}(g, x) - g(x)| \\ &\leq 2\|f - g\| + [n]_{q(n)}^{-1}\|\varphi^2 g''\| \\ &\leq 2\{\|f - g\| + [n]_{q(n)}^{-1}\|\varphi^2 g''\|\} \end{aligned}$$

Hence, $\|B_{n,q(n)}f - f\| \leq 2K_{2,\varphi}(f, [n]_{q(n)}^{-1})$. Using (1.5) we get the assertion of the theorem. \square

3. Converse theorem

The converse results of Berens–Lorentz type are included in the following theorem.

Theorem 3.1. *Let $B_{n,q}f$ be defined as in (1.1) and let $q = q(n)$ such that $0 < q(n) < 1$ and satisfies the following properties:*

$$\left(3^n [n]_{q(n)}^2 \left(\frac{n}{[n]_{q(n)}} \frac{n-1}{[n-1]_{q(n)}} - 1 \right) \right) \text{ is a bounded sequence,} \quad (3.1)$$

$$C_0 \leq (q(n))^n < 1 \quad \text{for all } n = 1, 2, \dots \text{ and for some absolute constant } C_0 > 0. \quad (3.2)$$

Then, for $f \in C[0, 1]$ and $0 < \alpha < 2$, the global approximation

$$\|B_{n,q(n)}f - f\| \leq C[n]_{q(n)}^{-\alpha/2}, \quad n = 1, 2, \dots, \quad (3.3)$$

implies $\omega_\varphi^2(f, \delta) \leq C\delta^\alpha$, $0 < \delta < 1$.

First of all, we give two lemmas which are necessary to prove our theorem.

Lemma 3.2. *For $0 < q < 1$ and $g \in W^2(\varphi)$ we have*

$$|\Delta_q^2 g_t| \leq \begin{cases} \frac{2q(1+q)}{[n]_q} \|\varphi^2 g''\| & \text{if } t = 0, \\ \frac{q^{2t+1}(1+q)^2}{2[n]_q^2} \varphi^{-2} \left(\frac{[t+1]_q}{[n]_q} \right) \|\varphi^2 g''\| & \text{if } t = 1, 2, \dots, n-3, \\ \frac{2q^{n-3}(1+q)}{[n]_q} \|\varphi^2 g''\| & \text{if } t = n-2. \end{cases}$$

Proof. Using the definition of the q -integers and the definition of the divided differences for g at points $[t]_q/[n]_q$, $[t+1]_q/[n]_q$ and $[t+2]_q/[n]_q$, we have, by (1.2),

$$\begin{aligned} \left[\frac{[t]_q}{[n]_q}, \frac{[t+1]_q}{[n]_q}, \frac{[t+2]_q}{[n]_q}; g \right] &= \frac{[n]_q^2}{q^{2t+1}(1+q)} (g_{t+2} - (1+q)g_{t+1} + qg_t) \\ &= \frac{[n]_q^2}{q^{2t+1}(1+q)} \Delta_q^2 g_t. \end{aligned}$$

Hence, taking into account the representation of the divided differences by the Peano kernel [2, (7.16), p. 123], we find that

$$\Delta_q^2 g_t = \frac{1}{2[n]_q^2} q^{2t+1} (1+q) \int_{-\infty}^{\infty} g''(u) M_{[t]_q}(u) \, du, \tag{3.4}$$

where

$$M_{[t]_q}(u) := M\left(u; \frac{[t]_q}{[n]_q}, \frac{[t+1]_q}{[n]_q}, \frac{[t+2]_q}{[n]_q}\right)$$

is the piecewise linear B-spline (cf. [2, pp. 137–138]). From

$$\int_{-\infty}^{\infty} M_{[t]_q}(u) \, du = 1$$

we find

$$M_{[t]_q}\left(\frac{[t+1]_q}{[n]_q}\right) = \frac{2[n]_q}{q^t(1+q)}.$$

Therefore,

$$M_{[0]_q}(u) \leq \frac{4[n]_q^2}{1+q} u(1-u), \quad u \in [0, 1]$$

and

$$M_{[n-2]_q}(u) \leq \frac{4[n]_q^2}{q^{n-2}(1+q)} u(1-u), \quad u \in [0, 1].$$

We thus conclude from (3.4) that

$$\begin{aligned} |\Delta_q^2 g_0| &\leq \frac{1}{2[n]_q^2} q(1+q) \frac{4[n]_q^2}{1+q} \int_0^{[2]_q/[n]_q} \varphi^2(u) |g''(u)| \, du \\ &\leq \frac{2q(1+q)}{[n]_q} \|\varphi^2 g''\| \end{aligned} \tag{3.5}$$

and

$$\begin{aligned} |\Delta_q^2 g_{n-2}| &\leq \frac{1}{2[n]_q^2} q^{2n-3}(1+q) \frac{4[n]_q^2}{q^{n-2}(1+q)} \int_{[n-2]_q/[n]_q}^1 \varphi^2(u) |g''(u)| \, du \\ &\leq \frac{2q^{n-3}(1+q)}{[n]_q} \|\varphi^2 g''\|, \end{aligned} \tag{3.6}$$

respectively. If $t \in \{1, 2, \dots, n-3\}$, then, for u between $[t]_q/[n]_q$ and $[t+2]_q/[n]_q$, we have $\varphi^2([t+1]_q/[n]_q) \leq (1+q)\varphi^2(u)$. Hence, by (3.4),

$$\begin{aligned} |\Delta_q^2 g_t| &\leq \frac{1}{2[n]_q^2} q^{2t+1} (1+q) \varphi^{-2}\left(\frac{[t+1]_q}{[n]_q}\right) (1+q) \int_0^1 \varphi^2(u) |g''(u)| M_{[t]_q}(u) \, du \\ &\leq \frac{1}{2[n]_q^2} q^{2t+1} (1+q)^2 \varphi^{-2}\left(\frac{[t+1]_q}{[n]_q}\right) \|\varphi^2 g''\|, \end{aligned} \tag{3.7}$$

because

$$\int_{-\infty}^{\infty} M_{[t]_q}(u) \, du = 1.$$

By combining (3.5)–(3.7) we arrive at the desired estimates. □

Lemma 3.3.

(i) We have

$$\|\varphi^2 B''_{n,q} f\| \leq Cn \|f\|$$

for $0 < q < 1$, $f \in C[0, 1]$ and $n = 1, 2, \dots$

(ii) Let $q = q(n)$ satisfy the conditions $0 < q(n) < 1$, (3.1) and (3.2). Then

$$\|\varphi^2 B''_{n,q(n)} g\| \leq C \|\varphi^2 g''\|$$

for $g \in W^2(\varphi)$ and $n = 1, 2, \dots$

Proof. (i) For $0 < q < 1$ we have

$$\begin{aligned} p_{n,k,q}(x) &= \binom{n}{k}_q x^k (1-x) [(1-x) + x(1-q)] \dots [(1-x) + x(1-q^{n-k-1})] \\ &= \binom{n}{k}_q \{x^k (1-x)^{n-k} + x^{k+1} (1-x)^{n-k-1} (1-q + 1-q^2 + \dots + 1-q^{n-k-1}) \\ &\quad + \dots + x^{n-1} (1-x)(1-q)(1-q^2) \dots (1-q^{n-k-1})\}. \end{aligned}$$

Thus, $p_{n,k,q}(x)$ is a polynomial with positive coefficients in x and $1-x$ (see [2, pp. 109–113]).

Let $I_+ = \{k \in \{0, 1, \dots, n\} : f_k \geq 0\}$ and $I_- = \{k \in \{0, 1, \dots, n\} : f_k < 0\}$. Then

$$\sum_{k \in I_+} f_k p_{n,k,q}(x) \quad \text{and} \quad \sum_{k \in I_-} (-f_k) p_{n,k,q}(x)$$

are polynomials with positive coefficients in x and $1-x$. Using the Bernstein-type inequality for polynomials with positive coefficients in x , $1-x$ and of degree $\leq n$ (see [2, pp. 112–113] or [4]), we obtain

$$\begin{aligned} \varphi^2(x) |B''_{n,q}(f, x)| &= \varphi^2(x) \left| \sum_{k \in I_+} f_k p''_{n,k,q}(x) + \sum_{k \in I_-} f_k p''_{n,k,q}(x) \right| \\ &\leq \varphi^2(x) \left| \sum_{k \in I_+} f_k p''_{n,k,q}(x) \right| + \varphi^2(x) \left| \sum_{k \in I_-} (-f_k) p''_{n,k,q}(x) \right| \\ &= \varphi^2(x) \left| \left(\sum_{k \in I_+} f_k p_{n,k,q}(x) \right)'' \right| + \varphi^2(x) \left| \left(\sum_{k \in I_-} (-f_k) p_{n,k,q}(x) \right)'' \right| \end{aligned}$$

$$\begin{aligned} &\leq Cn \left\| \sum_{k \in I_+} f_k p_{n,k,q} \right\| + Cn \left\| \sum_{k \in I_-} (-f_k) p_{n,k,q} \right\| \\ &\leq Cn \|f\| \left(\left\| \sum_{k \in I_+} p_{n,k,q} \right\| + \left\| \sum_{k \in I_-} p_{n,k,q} \right\| \right) \\ &\leq Cn \|f\|, \end{aligned}$$

because $B_{n,q}(1, x) = 1$ in view of (2.1). Hence, $\|\varphi^2 B''_{n,q} f\| \leq Cn \|f\|$, which was to be proved.

(ii) By [8, (21), p. 269] we have

$$B''_{n,q(n)}(f, x) = \sum_{k=0}^{n-2} \frac{(k+2)(k+1)}{[k+2]_{q(n)}[k+1]_{q(n)}} \begin{bmatrix} n-2 \\ k \end{bmatrix}_{q(n)} \Delta_{q(n)}^k([n]_{q(n)}[n-1]_{q(n)} \Delta_{q(n)}^2 f_0) x^k. \tag{3.8}$$

Following [8, (12), p. 265], let us consider the next modified form of the q -Bernstein polynomials:

$$\begin{aligned} \tilde{B}_{n-2,q(n)}([n]_{q(n)}[n-1]_{q(n)} \Delta_{q(n)}^2 f, x) \\ = \sum_{k=0}^{n-2} \begin{bmatrix} n-2 \\ k \end{bmatrix}_{q(n)} \Delta_{q(n)}^k([n]_{q(n)}[n-1]_{q(n)} \Delta_{q(n)}^2 f_0) x^k, \end{aligned} \tag{3.9}$$

where $f \in C[0, 1]$. By combining (3.8), (3.9) and (1.3), we arrive at the following inequality for $g \in W^2(\varphi)$:

$$\begin{aligned} &\left| \varphi^2(x) B''_{n,q(n)}(g, x) - \varphi^2(x) \tilde{B}_{n-2,q(n)}([n]_{q(n)}[n-1]_{q(n)} \Delta_{q(n)}^2 g, x) \right| \\ &\leq \sum_{k=0}^{n-2} \left(\frac{k+2}{[k+2]_{q(n)}} \frac{k+1}{[k+1]_{q(n)}} - 1 \right) \begin{bmatrix} n-2 \\ k \end{bmatrix}_{q(n)} [n]_{q(n)} [n-1]_{q(n)} \\ &\quad \times \left(\sum_{r=0}^k q(n)^{r(r-1)/2} \begin{bmatrix} k \\ r \end{bmatrix}_{q(n)} |\Delta_{q(n)}^2 g_{k-r}| \right) x^{k+1} (1-x). \end{aligned} \tag{3.10}$$

By applying Lemma 3.2 for $t \in \{1, 2, \dots, n-3\}$, we obtain

$$\begin{aligned} |\Delta_{q(n)}^2 g_t| &\leq \frac{q(n)^{2t+1} (1+q(n))^2}{2[n]_{q(n)}^2} \frac{[n]_{q(n)}^2}{[t+1]_{q(n)}([n]_{q(n)} - [t+1]_{q(n)})} \|\varphi^2 g''\| \\ &\leq \frac{q(n)^{2t+1} (1+q(n))^2}{2[n]_{q(n)}^2} \frac{[n]_{q(n)}^2}{q(n)^t q(n)^{t+1}} \|\varphi^2 g''\| \\ &< 2 \|\varphi^2 g''\|; \end{aligned}$$

by applying the same Lemma 3.2 for $t \in \{0, n - 2\}$, we also obtain

$$|\Delta_{q(n)}^2 g_t| \leq \frac{4}{[n]_{q(n)}} \|\varphi^2 g''\| \leq 4\|\varphi^2 g''\|.$$

In conclusion, by (3.10),

$$\begin{aligned} &|\varphi^2(x)B''_{n,q(n)}(g, x) - \varphi^2(x)\tilde{B}_{n-2,q(n)}([n]_{q(n)}[n-1]_{q(n)}\Delta_{q(n)}^2 g, x)| \\ &\leq \sum_{k=0}^{n-2} \left(\frac{k+2}{[k+2]_{q(n)}} \frac{k+1}{[k+1]_{q(n)}} - 1 \right) \begin{bmatrix} n-2 \\ k \end{bmatrix}_{q(n)} [n]_{q(n)}^2 \\ &\quad \times \left(\sum_{r=0}^k q(n)^{r(r-1)/2} \begin{bmatrix} k \\ r \end{bmatrix}_{q(n)} \right) 4\|\varphi^2 g''\|. \end{aligned} \tag{3.11}$$

Since

$$\frac{k+2}{[k+2]_{q(n)}} \frac{k+1}{[k+1]_{q(n)}} - 1 \leq \frac{n}{[n]_{q(n)}} \frac{n-1}{[n-1]_{q(n)}} - 1$$

for $k \in \{0, 1, \dots, n - 2\}$ and the q -binomial coefficients are increasing functions of q , we get from (3.11) and (3.1) that

$$\begin{aligned} &\left| \varphi^2(x)B''_{n,q(n)}(g, x) - \varphi^2(x)\tilde{B}_{n-2,q(n)}([n]_{q(n)}[n-1]_{q(n)}\Delta_{q(n)}^2 g, x) \right| \\ &\leq 4[n]_{q(n)}^2 \|\varphi^2 g''\| \left(\frac{n}{[n]_{q(n)}} \frac{n-1}{[n-1]_{q(n)}} - 1 \right) \sum_{k=0}^{n-2} \begin{bmatrix} n-2 \\ k \end{bmatrix} \left(\sum_{r=0}^k \binom{r}{s} \right) \\ &= 4[n]_{q(n)}^2 3^{n-2} \left(\frac{n}{[n]_{q(n)}} \frac{n-1}{[n-1]_{q(n)}} - 1 \right) \|\varphi^2 g''\| \\ &\leq C\|\varphi^2 g''\|. \end{aligned} \tag{3.12}$$

Furthermore, by (1.1),

$$\begin{aligned} &\varphi^2(x)\tilde{B}_{n-2,q(n)}([n]_{q(n)}[n-1]_{q(n)}\Delta_{q(n)}^2 g, x) \\ &= \sum_{k=0}^{n-2} [n]_{q(n)}[n-1]_{q(n)}\Delta_{q(n)}^2 g_k \varphi^2(x)p_{n-2,k,q(n)}(x). \end{aligned}$$

Hence, using Lemma 3.2, we find that

$$\begin{aligned} &|\varphi^2(x)\tilde{B}_{n-2,q(n)}([n]_{q(n)}[n-1]_{q(n)}\Delta_{q(n)}^2 g, x)| \\ &\leq \sum_{k=0}^{n-2} [n]_{q(n)}^2 |\Delta_{q(n)}^2 g_k| \varphi^2(x)p_{n-2,k,q(n)}(x) \\ &\leq 2q(n)(1+q(n))[n]_{q(n)} \|\varphi^2 g''\| \varphi^2(x)p_{n-2,0,q(n)}(x) + \frac{1}{2}(1+q(n))^2 \\ &\quad \times \|\varphi^2 g''\| \sum_{k=1}^{n-3} q(n)^{2k+1} \varphi^{-2} \left(\frac{[k+1]_{q(n)}}{[n]_{q(n)}} \right) \varphi^2(x)p_{n-2,k,q(n)}(x) \\ &\quad + 2q(n)^{n-3}(1+q(n))[n]_{q(n)} \|\varphi^2 g''\| \varphi^2(x)p_{n-2,n-2,q(n)}(x). \end{aligned} \tag{3.13}$$

But

$$\begin{aligned} \varphi^2(x)p_{n-2,0,q(n)}(x) &= x(1-x)^2(1-xq(n)) \cdots (1-xq(n)^{n-3}) \\ &\leq x(1-xq(n)^{n-3})^{n-1} \end{aligned}$$

and $x(1-xq(n)^{n-3})^{n-1}$ has its maximum at $x = 1/(nq(n)^{n-3})$ on $[0, 1]$. Therefore,

$$\varphi^2(x)p_{n-2,0,q(n)}(x) \leq \frac{1}{nq(n)^{n-3}} \left(1 - \frac{1}{n}\right)^{n-1} < \frac{1}{nq(n)^{n-3}}. \tag{3.14}$$

A similar argument gives the following estimate for $t = n - 2$:

$$\varphi^2(x)p_{n-2,n-2,q(n)}(x) = x^{n-1}(1-x) \leq \left(1 - \frac{1}{n}\right)^{n-1} \frac{1}{n} < \frac{1}{n}. \tag{3.15}$$

At the same time, for $t \in \{1, 2, \dots, n - 3\}$, we have

$$\begin{aligned} q(n)^{2k+1} \varphi^{-2} \left(\frac{[k+1]_{q(n)}}{[n]_{q(n)}} \right) \varphi^2(x)p_{n-2,k,q(n)}(x) &= q(n)^{2k+1} \frac{[n]_{q(n)}^2}{[k+1]_{q(n)}([n]_{q(n)} - [k+1]_{q(n)})} \begin{bmatrix} n-2 \\ k \end{bmatrix}_{q(n)} \\ &\quad \times x^{k+1}(1-x)^2(1-xq(n)) \cdots (1-xq(n)^{n-3-k}) \\ &< q(n)^{2k+1} \frac{[n]_{q(n)}^2}{[k+1]_{q(n)}([n]_{q(n)} - [k+1]_{q(n)})} \begin{bmatrix} n-2 \\ k \end{bmatrix}_{q(n)} \\ &\quad \times x^{k+1}(1-x)(1-xq(n)) \cdots (1-xq(n)^{n-3-k})(1-xq(n)^{n-2-k}). \end{aligned}$$

Using [9, (2.3), (2.4), p. 214], we get

$$\begin{aligned} \begin{bmatrix} n-2 \\ k \end{bmatrix}_{q(n)} &= \begin{bmatrix} n-1 \\ k+1 \end{bmatrix}_{q(n)} \frac{[k+1]_{q(n)}}{[n-1]_{q(n)}} \\ &= \begin{bmatrix} n \\ k+1 \end{bmatrix}_{q(n)} \frac{[n-k-1]_{q(n)}}{[n]_{q(n)}} \frac{[k+1]_{q(n)}}{[n-1]_{q(n)}}. \end{aligned}$$

Thus,

$$\begin{aligned} q(n)^{2k+1} \varphi^{-2} \left(\frac{[k+1]_{q(n)}}{[n]_{q(n)}} \right) \varphi^2(x)p_{n-2,k,q(n)}(x) &< q(n)^{2k+1} \frac{[n]_{q(n)}^2}{[k+1]_{q(n)}([n]_{q(n)} - [k+1]_{q(n)})} \frac{[n-k-1]_{q(n)}}{[n]_{q(n)}} \frac{[k+1]_{q(n)}}{[n-1]_{q(n)}} \\ &\quad \times \begin{bmatrix} n \\ k+1 \end{bmatrix}_{q(n)} x^{k+1}(1-x)(1-xq(n)) \cdots (1-xq(n)^{n-3-k})(1-xq(n)^{n-2-k}) \\ &= q(n)^{2k+1} \frac{[n]_{q(n)}}{[n-1]_{q(n)}} \frac{[n-k-1]_{q(n)}}{[n]_{q(n)} - [k+1]_{q(n)}} p_{n,k+1,q(n)}(x). \end{aligned}$$

On the other hand,

$$\frac{[n]_{q(n)}}{[n-1]_{q(n)}} = \frac{1 - q(n)^n}{1 - q(n)^{n-1}} < 1 + q(n)$$

and

$$\frac{[n-k-1]_{q(n)}}{[n]_{q(n)} - [k+1]_{q(n)}} = \frac{1 + q(n) + \dots + q(n)^{n-k-2}}{q(n)^{k+1} + q(n)^{k+2} + \dots + q(n)^{n-1}} = \frac{1}{q(n)^{k+1}}.$$

In conclusion,

$$\begin{aligned} q(n)^{2k+1} \varphi^{-2} \left(\frac{[k+1]_{q(n)}}{[n]_{q(n)}} \right) \varphi^2(x) p_{n-2,k,q(n)}(x) &< q(n)^k (1 + q(n)) p_{n,k+1,q(n)}(x) \\ &< 2p_{n,k+1,q(n)}(x). \end{aligned} \quad (3.16)$$

Combining the estimates (3.13)–(3.16), we find that

$$\begin{aligned} &|\varphi^2(x) \tilde{B}_{n-2,q(n)}([n]_{q(n)}[n-1]_{q(n)} \Delta_{q(n)}^2 g, x)| \\ &\leq 2q(n)(1 + q(n)) [n]_{q(n)} \frac{1}{nq(n)^{n-3}} \|\varphi^2 g''\| \\ &\quad + \frac{1}{2}(1 + q(n))^2 \|\varphi^2 g''\| \sum_{k=1}^{n-3} 2p_{n,k+1,q(n)}(x) \\ &\quad + 2q(n)^{n-3} (1 + q(n)) [n]_{q(n)} \frac{1}{n} \|\varphi^2 g''\| \\ &\leq \frac{4}{q(n)^n} \frac{[n]_{q(n)}}{n} \|\varphi^2 g''\| + 4 \|\varphi^2 g''\| \sum_{k=1}^{n-3} p_{n,k+1,q(n)}(x) + 4 \frac{[n]_{q(n)}}{n} \|\varphi^2 g''\| \\ &\leq C \|\varphi^2 g''\|, \end{aligned} \quad (3.17)$$

where we have used $[n]_{q(n)} \leq n$, (2.1) and (3.2). Now, from (3.12) and (3.17), we arrive at the desired estimate, which completes the proof of the lemma. \square

Proof of Theorem 3.1. By taking into account the definition of the K -functional $K_{2,\varphi}(f, \delta^2)$, (3.3) and Lemma 3.3, we obtain

$$\begin{aligned} K_{2,\varphi}(f, n^{-1}) &\leq \|f - B_{k,q(k)} f\| + n^{-1} \|\varphi^2 B''_{k,q(k)} f\| \\ &\leq \|f - B_{k,q(k)} f\| + n^{-1} (\|\varphi^2 B''_{k,q(k)}(f - g)\| + \|\varphi^2 B''_{k,q(k)} g\|) \\ &\leq C [k]_{q(k)}^{-\alpha/2} + C n^{-1} (k \|f - g\| + \|\varphi^2 g''\|) \\ &\leq C \left([k]_{q(k)}^{-\alpha/2} + \frac{k}{n} \left(\|f - g\| + \frac{1}{k} \|\varphi^2 g''\| \right) \right). \end{aligned}$$

Taking infimum over all $g \in W^2(\varphi)$, we find that

$$K_{2,\varphi}(f, n^{-1}) \leq C \left([k]_{q(k)}^{-\alpha/2} + \frac{k}{n} K_{2,\varphi}(f, k^{-1}) \right).$$

Moreover, by (3.1), we obtain that the sequence $(n/[n]_{q(n)})$ is also bounded. Then

$$K_{2,\varphi}(f, n^{-1}) \leq C \left(k^{-\alpha/2} + \frac{k}{n} K_{2,\varphi}(f, k^{-1}) \right).$$

Hence, in view of the Berens–Lorentz lemma (see [1] or [2, p. 312]), we have

$$K_{2,\varphi}(f, n^{-1}) \leq C n^{-\alpha/2}, \quad n = 1, 2, \dots \quad (3.18)$$

For every $0 < \delta < 1$ there exists n such that

$$\frac{1}{\sqrt{n+1}} < \delta < \frac{1}{\sqrt{n}}.$$

Then the definition of $K_{2,\varphi}(f, \delta^2)$ and (3.18) imply $K_{2,\varphi}(f, \delta^2) \leq C\delta^\alpha$. By (1.5) we obtain $\omega_\varphi^2(f, \delta) \leq C\delta^\alpha$, which was to be proved. \square

Remark 3.4. There exist sequences $(q(n))$ which satisfy conditions (3.1) and (3.2). An example of such a sequence is $q(n) = 1 - 1/na^n$, where $a > 27$ and $n = 1, 2, \dots$.

Remark 3.5. Condition (3.2) provides that $q(n) \rightarrow 1$ as $n \rightarrow \infty$. Thus, in Theorem 3.1 we have the uniform convergence of $B_{n,q(n)}f$ to f on $[0, 1]$ (see [7, 8]).

References

1. H. BERENS AND G. G. LORENTZ, Inverse theorems for Bernstein polynomials, *Indiana Univ. Math. J.* **21** (1972), 693–708.
2. R. A. DEVORE AND G. G. LORENTZ, *Constructive approximation* (Springer, 1993).
3. Z. DITZIAN AND V. TOTIK, *Moduli of smoothness* (Springer, 1987).
4. T. ERDÉLYI, Estimates for the Lorentz degree of polynomials, *J. Approx. Theory* **67** (1991), 187–198.
5. T. N. T. GOODMAN, H. ORUÇ AND G. M. PHILLIPS, Convexity and generalized Bernstein polynomials, *Proc. Edinb. Math. Soc.* **42** (1999), 179–190.
6. H. ORUÇ AND G. M. PHILLIPS, A generalization of the Bernstein polynomials, *Proc. Edinb. Math. Soc.* **42** (1999), 403–413.
7. G. M. PHILLIPS, Bernstein polynomials based on the q -integers, *Annals Numer. Math.* **4** (1997), 511–518.
8. G. M. PHILLIPS, On generalized Bernstein polynomials, in *Numerical analysis, A. R. Mitchell 75th birthday volume* (ed. D. F. Griffiths and G. A. Watson), pp. 263–269 (World Scientific, Singapore, 1999).
9. V. S. VIDENSKII, *On some classes of q -parametric positive linear operators*, Operator Theory, Advances and Applications, Volume 158, pp. 213–222 (Birkhäuser, 2005).